-C?) @m ‘ [H Lisdys enintddn 20 (lisdtddn 3)
s=L g

Nimi: Paivimaard: ___ Pisteet:
6+3= 1143 = 10+3 = 7+3=
20+3 = 7+3= 20+3 = 8+3 =
14+3 = 12+3 = 7+3 = 11 +3=
13+3= 6+3= 17+3= 20+3 =
19+3 = 12+3 = 14+3 = 13+3=
543 = 13+3 = 20+3 = 7+3=
3+3= 9+3= 1+3= 2+3 =
§+3 = 13+3= 7T+3= 4+3=
11+3= 7+3= 17+3 = 9+3 =
10+3 = 9+3 = 1+3= 15+3=
17+3 = 3+3= 10+3 = 14+3 =
15+3= 18+3 = 19+3 = 17+3=
20+3 = 4+3=

www.snowmath.com


https://www.snowmath.com

Lisdys enintddn 20 (lisdtdédn 3)

LA &[H 2

www.snowmath.com

Nimi: Paivamaira: Pisteet: ____
6+3=9 11+3 =14 10+3 =13 7+3=10
20+3 =23 7+3=10 20+3 =23 8+3=11I
14+3=17 12+3 =15 7+3=10 11+3=14
1343 =16 6+3=9 17+3 =20 20+3 =23
19+3 =22 12+3=15 14+3=17 13+3=16
5+3=28 13+3 =16 20+3 =23 7+3=10
3+3=6 9+3=12 1+3=4 2+3=5
8+3=11I 1343 =16 7+3=10 4+3=7
11+3 =14 7+3=10 17+3 =20 9+3=12
10+3=13 9+3=12 1+3=4 15+3 =18
17+3=20 3+3=6 10+3=13 14+3 =17
15+3 =18 18+3 =21 19+3 =22 17+3 =20
20+3 =123 4+3=7
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